
Name:  _____________________________                                                      Score: ____________________ 
 

Daily Work 
 
 

Today is: _________________________________________________________________________________ 
 
 
 
 
 
 
 
 
Circle odd numbers:               How many legs on 5 ducks,         Work the problem: 
                                           3 horses, and 2 cows? 
 

544      401     19       58                                               5 + 9 -  6 + 8 - 2 + 8 + 9 = ________

DW4  -  1 

How much? 
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Solve: 

 
___________________________________________________________________________________________ 
 
 
___________________________________________________________________________________________ 
 

Use the editing marks to fix this sentence. Rewrite it correctly. 

mr morrison asked would you like to go to the muvies on tuesday 

Put the words in ABC order: 

between        biggest          bugle          banana            bother            

Joshua has 4 coins in  
his pocket. Which  
amount of money  
could he have? 
 
 78¢       24¢      31¢  -   7 

      5 
 + 13 
    27 

 -    8 
       6 

349 loaves of bread were 
on the shelf. 204 loaves 
were sold. How many 
loaves are left? 


